ASSIGNMENTS BY SKILL LEVEL

LEVEL 4:

Variables and Terms: Combine Like Terms (Linear) has a Tool
operating in 3 modes generating 3, 5 and 7 terms to simplify..

Exponential Terms operates in two modes and has an example
explaining how to combine and simplify terms.

Zevy Inventory Activity, Students assign terms to an inventory of
cars and apply one days activity, print a sheet for each student.

LEVEL 5:

Linear Equations: has a Tool operating in three modes. The tool
shows detailed step-by-step solutions for all equations.

Examples of the Distributive, Identity and Equality properties
are presented and necessary to solve equations.

Fractional Equations is an extension of the linear equations tool
with more complex equations and detailed solutions.

Bivariate Equations tool operates in two modes and has a
graphic explaining and Elimination Technique and a
Substitution Technique to solve for X and Y.

LEVEL 6:

Quadratic Equations: Features a Tool operating in two modes
when A=1 and A>1. All equations may be factored and solved.

A series of Examples associate the algebraic elements of
equations with graphical elements of parabolas.

A Drop Rock Activity adds context to the quadratics by first
solving into a perfect square. Then discussing transitions of the
A, B, C, coefficients and Completing the Square to Solve for X.

Use the Quadratic Equation to Solve for X when A=1 and A>1.
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COMBINE LIKE TERMS
Algebra begins with combine like terms featuring a tool for

linear terms and one for exponential terms, both tools increase
in difficulty show solutions and
keep scores.  Students may
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an Invisible Math Graphic
important for reading and writing

ZEVY INVENTORY ACTIVITY

algebra. An Inventory
Activity uses the Ficticious
Zevy Motor Company to
have students assign codes
to an inventory of cars then
apply starting quantities and
one days activity.print an
activity sheet for each
student, solutions animate
online.

Print Activity Page
(Landscape, Duplex, Flip Short Side)

ZEVY SELLsS
Zorvetts - Z and Zameros — M
Each car comes standard or may have upgrade(s)

Upgrades: B)V-8 engine; (ULeather Interior

Write All 8 Inventory Items

CODE DESCRIPTION
Z : Zorvette
ZY : Zorvette Leather Interior
Z® : Zorvette V8 Engine
ZUX® : Zorvette Leather Interior and V8 Engine
M : Zamero
MY : Zamero Leather Interior
M® : Zamero V8 Engine

MYX®) : Zamero Leather Interior and V8 Engine

Code Starting Inventory

" zevy(1) : Close This Window




LINEAR EQUATIONS

The Linear equations

QUADRATIC EQUATIONS

The Quadratic Equation Section has its own Overview Video and
Booklet. Below are some of the highlights of this section.
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A Fractional Equations tool
generates more complex
equations. showing detailed
step-by-step solutions it is
great for assessing student
skills.

Step-by-Step Solution Full Solution
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Correct answer is: X=-4; Y=-3;
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A tool generates quadratic
equations with A = 1
mode and A > 1 in Hard Mode.

An Example details the F.O.IL.
method of factoring when A=1
and another details the Slide and
Divide technique when A>1. The
tool generates detailed solutions for
all equations.

in Easy

Graphical examples show many

A Bivariate equations tool
operates in two modes
generating equations with X
and Y variables. A help

graphic shows an elimination

technique to first solve for one variable then a substitution

technique to solve for the other.
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square and the quadratic
equation to solve. Please
see the Quadratic Equations
Overviews of full details




